(x-2)(x-3)(x-4)(x-5)=24
(x-2)(x-3)(x-4)(x-5)-24=0

(xz-7x+10>(x2-7x+12>-24=0

3aMCHd IICPECMECHHBIX.

Ilycth t:X2-7X
B pesynbrare .

(2+22t+120)-24=0

{2 422t4+120-24=0

t2+22t+96=O

HaXOI[I/IM JAUCKPUMHWHAHT.

D=h-4ac=22%-4-1-96=100
. _b=/D
1,2 2a
-22-10 -22+10
1= 21 LT o0
B sTom cnydae
x2—7x=—16
x2—7x=—6
Pemaem kaxioe ypaBHEHHUE
1)
x2-7x:-16
x2—7x+16=0

HEIXOI[I/IM JAUCKPUMHWHAHT.



D=b2—4ac=(—7)2—4- 1-16=-15 He umeeT KOpPHEIi.
2)
x2—7x=—6
x2—7x+6=0
HaxoauM TUCKPUMHHAHT.
D=b2—4ac=(—7)2—4- 1-6=25

_-bxD

X127 2a

7-5 1 7+5
X1=21 %721

6

OTBeT: X=1;X=6



